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Precalculus

REDEMPTION [Gauss-Jordan Elimination]

Name___________________________________
©_ M2C0X1C7x OK[uBtUao ZSEobfFtwwKa^rjeB ZLsLOCV._ O DAtldlV lr]icgshItZs_ grBeNsLe`rjv[evdo.

Solve each system of linear equations using Gauss-Jordan elimination.

1)  -2x - 4y = 2
2x - 2y = 16

2)  -3x + 3y = 6
-x - 4y = -18

3)  -x - y - z = 6
x - 2z = 6
-4x - 4y - 4z = 4

4)  -3x - 3y = 9
-4x - y + 3z = -6
-5x - 4y + z = 9

5)  -5x + 3y - 3z = 8
x - 5y - 3z = 16
-x + 2y = -4
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Name___________________________________
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Solve each system of linear equations using Gauss-Jordan elimination.

1)  -2x - 4y = 2
2x - 2y = 16

(5, -3)

2)  -3x + 3y = 6
-x - 4y = -18

(2, 4)

3)  -x - y - z = 6
x - 2z = 6
-4x - 4y - 4z = 4

No solution.

4)  -3x - 3y = 9
-4x - y + 3z = -6
-5x - 4y + z = 9

(z + 3, -z - 6, z)

5)  -5x + 3y - 3z = 8
x - 5y - 3z = 16
-x + 2y = -4

(-4, -4, 0)


